g£210 BIRH/NMNEEEFEEF/\L—FKR—ILKE
20164 78 17H(B) EFNEIAESE -SEREEEN ——2T142

78 24H(A) HEXEELE
B £RINL—F—LH5T

R HENL—KR—ILI5T

i B3 E/FT/NAL—R—ILRR—Y D EH 'E'
x Bafi BEDK SL—K—IH5T sl OE ﬂ E&ﬁﬁl u
! 9 - 21| 2: NS
e B
A-1f! 2} 2E_—1|1i iﬂ w2y
24 - 22 21 - 18 121
i 21 - 18 16 - 21 IJ-I 21 - 6
- 15 - - 10
x 0 o7 75 | |-
fA=7 EA—7 EA—5-52 0]
N 21 - 18
;E ﬁ i2]21 - 15/ 0} ~
*;]- {0} foi ﬁ -] """ L\t*[i@
21 - 12 21 - 9
D-2{i 21 - 11 |21 - 15 H-2{1
121 2
A1 #MB=1 b
C-2fii 0 i 01G-2f
[21 - 6] [21 - 6]
14 - 21 21 - 7
15 - 12 -
24 2]
sA-8 S EA-8
=
A & =
i [0} {0}
ﬁ {21 - 19 I 21 - 13 S
B-1f P23 - 21 WA=5 21 - 7 F-14i
i - 21 - 16 -
2 {2]21 -E:@: P2 E
cifl ﬁ WA—3 | - #B=3 5
@ 3 ﬁ E
EEEEEE c—;{ﬁ 2 | | :’"1"(;—|11ﬁ
101 21 - 8 23 - 25
16 - 21 21 - 14 21 - 8
14 - 21 - 15 - 8
- 0] 2]
T %57 KB —7
[ BR B o)
Tl o
jt 21 - 5 21 - 10 Jﬁ
B-2{i 19 - 21 21 - 1 F-24iL
15 - 9] | -
£ 1] 2] 3
D#A 15 -7 WA—2 #MB=2 !
5&*;]- 21 - 17[ 2} % Bu'ﬂ-'l
9 - 15 £
EEEEEE @ A-|21E‘L 0} | | ) E—zlﬁ
Py 21 - 14 104 21 -9
13 - 21 E 21 - 11 21 — 10 21 - 3
21 - 17 - 21 — 15 -
15 - 6 P2} - 121
LT_I E &fB—8 I_T_I EB—8
1 - e
o {:@:E - a7 -3 5
2] % B
D-14i1 H-14i2
HEE XA E R
A~ DA% S AT AR N
=ty iy i EAR ~HIE(XERFET A E 45
SEATRREN —=2 Y b s— EIRFAT A METBE R
BB BB BB BB L OKEHBIL (7248 XEHBL (7 A248)
Aa—k| Z ¥ | [Ba—r| B # | [ca—r| B 4 | [Da—r T |ilAa—k| B # | |Ba—k| =T ¥ |}
SA-1 BE | (5B—1| EE | (EA-1 WaIE | [@E8—1] BEY |ijma—1| BAT2 | o WB72 11
sA-2| BE | [sB—2 2 | EA—2| ®/T | |EB-2| %HE |i|wA—2wA-1ma| |[wB—2we— 1%
SA-3 2K | |SB-3 @EE EA—3| MWE | |EB—3| EAFE ||[#A—3#A—2KE |#B—3¥B—2RH i
fA-4 #E | |5B-4| EFH | [BA-4 XE | |EB-4 mE |i|wma—s] BA-S
5A—5| #%& | |mB-5| WK | |[HA-s| ®a | |Es—s| wm |i|wa—s| BA—4
SA—6| it fB—6 EH EA—6| AK EB—6| ZER |
=,_-| SA-8 =n_-| @B8 _ | EA-8 _ | EB-8
SA—7 Fg;_j_\ £SB—7 ﬁﬁ;_j_\ EA—7 Fli;_j_\ EB—7 Fﬁ*_j"
= A—7 = B—7 EA—7 EE—7
RA—8| mr—u | [RBT8 mr—s | |BAT8 mr—u | |EBT8 gz




A# B 8 |Bhubktyb|tybE| BE | kA& |BAR| JEX
D | EEES| 1 1 3 2 60% | 93 77 |1.208 2
@ | EEE 0 2 1 4 20% | 68 91 |0747| 3
® EFAR 2 0 4 2 67% | 102 | 95 |1.074| 1
B# % 8 |Bhubktyb|tybE BE | kA |BAR| JE
@ | i 1 1 2 2 50% | 77 70 [1100| 2
® BH{E 2 0 4 0 100% | 84 61 |1.377 1
® &R 0 2 0 4 0% 54 84 |0643 | 3
c# % 8 |BtEubktyb|tybE BE | kA |BAX| JEX
@ ER 0 2 1 4 20% | 81 96 0844 | 3
HEE 2 0 4 0 100% | 84 49 [1.714 1
©) 5114 1 1 3 40% | 73 93 |0785| 2
D# % 8 |BtEubktyb|tybE BE | kA |BAR| JEX
R 1 1 3 3 50% | 94 97 |0969 | 2
(@) Hig 0 2 1 4 20% | 68 91 |0.747 3
® ES 2 0 4 1 80% | 95 69 |1.377 1
EfA % 8 |Btubktyb|tybE BE | kA |BAE| B
® |#MLumE| 1 1 2 2 50% | 60 75 |0.800 | 2
BA 2 0 4 0 100% | 84 34 |24M 1
® |WERIE| o 2 0 4 0% | 49 84 |0583 | 3
Fi % 8 |BtEubktyb|tybE BE | kA |BAE| IEX
KIE 0 2 0 4 0% 49 84 |0583| 3
@ AR 1 1 2 2 50% | 71 69 |1.029 2
B/F| 2 0 4 0 100% | 84 51 |1.647 | 1
G# % 8 |Bthubktyk|tybE BE | kA |BAE| B
EfFE| 2 0 4 1 80% | 92 70 |1.314 1
@ 1) 1 1 3 3 50% | 97 93 |1.043 2
@ |BRY| o 2 1 4 20% | 68 94 |0.723 3
H# % 8 |BhubktybtybE BE | kA |BAE| B
@ 2H 1 1 2 2 50% | 45 66 0682 | 2
® |EH®E| o 2 0 4 0% 42 84 10.500 3
@ ER 2 0 4 0 100% | 84 21 | 4.000 1




